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{h1,h2,...hn}

2Θ

Θ
m : 2Θ → [0, 1]

m(φ) = 0
�

A⊆Θ m(A) = 1

{h1, h2, ...hn}

m12(A) =
�
∀X,Y :X�Y =A m1(X).m2(Y )
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∀X,Y :X�Y =φ m1(X).m2(Y )
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Sensor Level
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Context
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{active, inactive, θ} {1, 0, 0}
θ

30%
70%

{0.3, 0.7, ..., 0, 0}
{desk1, desk2, ..., deskn, θ}

{0.2, 0.8, 0} {active, inactive, θ}



θ

{0.3, 0.7, ..., 0, 0} {desk1, desk2, ..., deskn, θ}

{FridgeUsed,¬FridgeUsed, Θ}
{GetDrink,¬GetDrink, Θ}
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{FridgeUsed = 1,¬FridgeUsed = 0
PlateUsed = 1,¬PlateUsed = 0
{MicrowaveUsed = 1,¬MicrowaveUsed = 0}

{CupUsed = 0,¬CupUsed = 1
{GroceriesUsed = 0,¬GroceriesUsed = 1}
{FreezerUsed = 0,¬FreezerUsed = 1}
PansUsed = 0,¬PansUsed = 1

{Morning = 1, Evening = 0}



{FridgeUsed = 1,¬FridgeUsed = 0} →{GetDrink = 1,¬GetDrink = 0}
{CupUsed = 0,¬CupUsed = 1} → {GetDrink = 0,¬GetDrink = 0.8, Θ = 0.2

{FridgeUsed = 1, F ridgeNotUsed = 0} →{Breakfast = 1,¬Breakfast = 0}
{MicrowaveUsed = 1,¬MicroUsed = 0} →{Breakfast = 0.2,¬Breakfast =

0, θ = 0.8}
{PlateUsed = 1,¬PlatesUsed = 0}→{Breakfast = 1,¬Breakfast = 0}
{GroceriesUsed = 0,¬GroceriesUsed = 1}→{Breakfast = 0,¬Breakfast = 1}
{Morning = 1, Evening = 0} →{Breakfast = 1,¬Breakfast = 0}

{FridgeUsed = 1,¬FridgeUsed = 0}→{Dinner = 0.8,¬Dinner = 0, θ = 0.2}
{PlateUsed = 1,¬PlateUsed = 0} →{Dinner = 1,¬Dinner = 0}
{GroceriesUsed = 0,¬GroceriesUsed = 1}→{Dinner = 0,¬Dinner = 0.8, θ =

0.2}
{PansUsed = 0,¬PansUsed = 1} →{Dinner = 0,¬Dinner = 0.8, θ = 0.2}
{CupsUsed = 0,¬CupsUsed = 1} →{Dinner = 0,¬Dinner = 0.4, θ = 0.6}
{FreezerUsed = 0,¬FreezerUsed} = 1→{Dinner = 0,¬Dinner = 1}
{Morning = 1, Evening = 0} →{Dinner = 0,¬Dinner = 1}






